Name Test 3
CHEM 0201 (Organic) Fall 2014

1. (12 pts.) Provide names for the following alkenes, use the Z/E nomenclature where
appropriate.

a. b. N

2. (12 pts.) Determine the configuration of the chiral centers that are marked with a star.

a. b.

3. a. (8 pts.) Place a star next to the chiral centers on the following molecules.

b. (8 pts.) Determine whether the following molecules are chiral.

1. 1. OH

OH

111. OH Br v




4. (6 pts. ea.) Determine whether the following pairs of molecules are enantiomers, diastereomers,

or different views of the same molecule.

1.

H Cl
Bry, CH
l R HO
Hae” \ e | OH
Br H
enantiomers same
1. Cl OH v Cl Br Cl
e ® % ®R) (S
~
Br
OH Cl
. enantiomers
diastereomers

5. (6 pts. each) Predict the organic products of the following reactions.

a.

1. Hg(OZCCH3)2,
CH4OH

>
2. NaBH,

1. BHg

>
2. NaOH, H,0,
HOOH

6. (10 pts.) Draw a Lewis structure for BHs and briefly describe why BH3 is an electrophile.



7. (10 pts.) Two reactions are drawn below. In the first reaction, the electrophile and the
nucleophile are not added to opposite ends of the double bond, instead the nucleophile adds to a
location a carbon atom away from the position of the double bond. In the second reaction, the
reaction occurs the double bond.

\ //Ho>\<:/

H,SO4, H>0

N

HO
1. Hg(OQCCHs)Z,
H,0
H
2. NaBH,
HO

Explain why the two reactions produce different results.
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